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A= (0. 18%3+0. 19%2+0. 23) *2 - PIEGALE. 6~7 = 2.30 m2
UKL ET
—fR#EEABERO DY) — MIELERSE EIHEOFS P.23&Y
KBEEE=113. 6 x158 x200/7=2,2720 EFHRELE 1.1
- DAY —I(fEIX%50)
Baf-YmiT=E = 3.3m2/H
N=2.30/3.30 = 0.7 H
- BRI
V=2.272%0.7 = 1.59 m3
W=1.59%1.1 = 1.7 t
LER T2
V1= (0. 18%3+0. 19%2+0. 23) *0. 53 = 0.61
V2= (0. 18%3+0. 19%2+0. 23) *0. 53 = 0. 61
= = 1.22 m3
tH- Y E= (2. 50t/m3)
W=1.22%2.50 = 3.1 t
TEE
A
530 < 530
i
B X
T i 6l RCT#115 £ i Bl
' 3950 ,
3600 350,
‘ g p——— f %
Fw EIHIE b‘ g
180 840 180 180 840 18
& & ®
INEI B
V=3.63+3.24 = 6.87 m3

tH =Y EE (2. 50t/m3)
W=6.87%2. 50 = 17.2  t
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[1.0xX%7=V]
« H— KFL—JL(Gr-C-2B)

L=5.4+5.8 = 11.2 m
ETIEEX
MBS A21B &1
L BB ET L=5. dn THE . _TRE Wi M E T L=5. 6n L
L I I 1 L i i i
[FEEE])
A1=1/2%(3. 60+3. 95) *0. 94+1. 75%0. 67 -ABE = 4.72 m2
A2= 1. 81%0. 59+3. 95%0. 86 A2EER = 4.46 m2
saV9 ) — k(24-12-25(20))
Vi=4.72%0. 50 -AEE = 2.36
V2= 4. 46%0. 50 -A21BE = 2.23
= = 4.59 m3
- B (AR R
A1=1.00%0. 50+4. 72+0. 67x0. 50 --ABE = 5.56
A2= (0. 59+0. 86) *0. 50+4. 46 A2ER = 5.19
&it = 10.75 m2
THIEER
MBS A2t &
g | 5350 TRE Tkl 5760 B I
3600 1750
—= = ——— = ]
| | |
g 1 %l & 2
— 3950 1\750 181'{ 3950
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- #%#5 (SD345 D13, D16~D25)

D]3 W: 28+30 ...... ﬁ%ﬁ’"ﬁ%ﬁ& L) = 58
D16 W= 184+161 aeeeas HHEEREY = 345
&t = 403 kg
AV ) —FEIRL(FRE ¢26 L=250mm)
N= 21%2+23%2 = 88 Fl
 EBEFI(TAREOSEEEA - EEE1200kg/m3 A X EFE20%)
FLEA T : EIFLER b 26mm FeiEE & L=250mm
W=7t /4% (0. 026" 2x0. 250-0. 016" 2x0. 240) *88+1200* (1+0. 2) = 10. 70 kg
- RELE (EE TR
A1=4.72+(3. 95+0. 27+1. 75) *0. 50 --AES = 1.71
A2= 4. 46+ (1. 81+0. 27+3. 95) *0. 50 --A2¥BS = 7.48
&5t = 15.19 m2
THIEFER
MBS A ANELSA
\&‘ 5350 THRE \@‘ 5760 A
2 L2 5 % :
3950 1\750 181'4 3950
S (s 7878 e 5%
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(1.0xXx7-V ]
- BEYMERERLER
L1=9.02+1. 37
L2=4.09

BEHRE
V1=10. 39x0. 049
V2= 4.09%0. 018

L2447
V1=10. 39%0. 083
V2= 4.09%0. 083

tH= Y EE (2. 35t/md)
W=1.78%2.35

- SRR P17 T (t=50mm)
L= 13.4+15.6

s TR 7IL FEHEERRFERE - F&3A (t=50mm)
A1= 0. 10%13. 40
A2= 0. 10%15. 60

- REEE

A= 0. 95%1/2% (13. 40+15. 60)

- XBEEEHET7 A3 t=50mm)
A= 0. 95%1/2% (13. 40+15. 60)

- IREERD
AR

IR
- RAH

AR
RAH

= 10. 39
= 4.09

A&t = 14. 48 m
= 0.51
= 0.07

INET = 0.58 m3
= 0. 86
= 0.34

INET = 1.20 m3

=5 = 1.78 m3
= 4.18 t
= 29.0 m
= 1.34
= 1.56

=5 = 2.90 m2
= 13.8 m2
= 13.8 m2



5. BEMALIE T
(MkFa>vor)— bk

(1.0xXx7-V ]

V1=4.50 --RCERRB &= = 4.50
V2= 3.63+3.24 ---RCTHT#EHE = 6.87
V3=0.79 - FER T2k 4% (RCERARHE) = 0.79
V4=1.22 - L ER T2k 48 FE (RCTHTHE) = 1.22
&t = 13.38 m3
tLf- Y EE (2. 50t/m3)
W= 13. 38%2. 50 = 33.5 t
Q) EBHAVY— KR
[1.0X%7/-V]
V=1.78 A - LEVEE = 1.78
A&t = 1.78 m3
tLf- Y FE= (2. 35t/m3)
W=1.78%2. 35 = 4.2 t
B TFRI7IL &
[1.0X%7/=V]
SHEHET (FHEE t=50mm)
V1= 35.89x0. 05 --- 452} = 1.79
V2= 2.90%0.05 ---HR&E = 0.15
A&t = 1.94 m3
t& - Y E= (2. 35t/ml)
W= 1.94%2. 35 = 4.6 t
4) B (T4 X —UIkrK)
[1.0X%7/=V]
V1=2.50 = 2.50
V2=1.59 = 1.59
A&t = 409 m3
Wi=2.8 = 2.8
W2=1.7 = 1.7
= = 4.5 t
BGYRYF v T (H2)
[1.0xX%7=V]
W=0.23 A — FL—ILiEE = 0.23 t
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(1.0x%7-V]
RE& 215
- DANX—T v TR
ADAx—T1) vy D Ri5m2)
A=W L
W: 288 (MBS EMEER)
L:$BE
A= 1/2x (7. 70+7.76) *x1/2+ (7. 08+7. 16) = 55.0 m2

DA =Ty SIHET
A= 1/2% (7. 70+7.76) *1/2* (7. 08+7. 16) = 556.0 m2

FmEE

;2% Sa ol M€ 63 0]

REPIE S — M RER
i RilES

iN N
b

**********

PN

£

B & 7170
RCER

]

qd b/

RN E - % (22%914%1829)

N= 4%3+2 = 14 &
A= 0.914%1. 829 = 1,672 m2
S A= 1.672%14 = 23.4  m2

REFLHLEL— FERE RS
- BI5T (#4A 25 h=2.00m FREFHL S — FERER)
A= (5. 00+3. 00)*2. 00 = 16.0  #m2

- FRERBHLE S — R (TIL—— k3. 6m*5. 4m/#%)
A=16.0/(3.6%5. 4) = 1.0 #



